Quiz 54

1) West plays in 3NT. North leads ¥Q. How do you plan the play?
aQ3 N aKJ94
vA82 W E| ¥YK5
+J1062 S + AQ87
*»AK9%4 %1063
West East
INT 2%
2¢ 3NT
2) West plays in 3NT. North leads a6. How do you plan the play?
AaAK4 N A975
vQ8 W E| YA1063
¢+ AK6 S +QJ7
Q10953 *J82
West North  East  South
ls 1a Dbl Pass

2NT Pass 3NT  All Pass

3) West plays in 3NT. North leads 4Q. How do you plan the play?

A AK5 N a73

vQ1063 |w E| ¥K9

+1094 S +AQJ86

®AT72 «K1054

West North East  South

- Pass le Pass

le 1a 2% Pass

3NT All Pass

4) West plays in 3NT. North leads ¥3. How do you plan the play?
aAl10 N A K86
v974 W E| YAS
¢ AK852 S +J73
%0103 &AJ942

West North East  South

INT Pass 3NT  All Pass
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